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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3922668041 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chinese Traveller. Huen Tsang visited India during the reign
of this king

1 Harshavardhana
.3 Ashoka

3. Kanishka

4, Satavahana

@ QIlE dI9e QIRER 917 g 99] A WG JARER
QM-

1.  odeaq

.3 ZIealIR

3. aTal>|

4, dIOQLe
Options :

1.¢¥ 1
2. % 2
3. % 3
4, % 4

Question Number : 2 Question Id : 3922668042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the Mismatched pair

L Viswanadha Satyanarayana — Srimadh Ramayana
Kalpavrukshamu

2. Nanduri Subba Rao — Yenki song
3 Srirangam Sreenivasa Rao — Firadausi — A Rebel
4. Gurram Jashua - Kandiseekudu
am 69160 590 Aa
1. G4Qle AL — F11Q QUNILS RV
2. 99919el QI8 - I& 9IQ
3. GIQUEHE 19191 QUG — FERUEID — @681 FEQILT
4. QRRIA a2l — QIESNQe

Options :

1% 1

2.% 2

3.¢3

4. % 4

Question Number : 3 Question Id : 3922668043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Andhra Kesari titled leader to oppose lathi charge related to
Simon Commission in Madras was

1. Tenneti Viswanatham
2. Tangutur1 Prakasam Panthulu

Rajagopalachari

(ad

4. Lala Lajpati Roy
AIQIAER AIAFR FAIAE d2 960 A0LIRG F6al R 2
6@49Q1 QARG 606!

1. 60620 a2

2. CIggR gelse dIgn
3. QIesdldieslal

4. AR AFUG QUL

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 4 Question Id : 3922668044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Chatrapati Shivaji fought with this king’s army

I,
z

(Y]

4

Akbar
Humayun
Mohammad Bin Tughlaq

Aurangazeb

UG JQIe1 9Q QIFiT 64 42 Y& 2Q6m

1.

2.

-
e

4.

Options :
1.% 1
2.% 2
3.%3
4.9 4
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Question Number : 5 Question Id : 3922668045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The Supreme Commander of the Armed forces of India 1s
1. The Prime Minister

2, The President

3. The Vice President

4, The Defense Minister

QUG Y AIER1Q AP RN 6B

1. QRIRAQT
2. QEQe
3. Q4eUedd

4. goes A1

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 6 Question Id : 3922668046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The Present Vice President of NITT Aayog is

L.
2.

fad

4.

Suman Bery
Sindhusree Khullar
Amitabh Kant

I.G. Patel

16 26200 QRFINA QAN 62288

1.

fsd

Options :
1.9 1
2.% 2
3.% 3
4. % 4
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Question Number : 7 Question Id : 3922668047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the Mismatched pair related to states and their folk

dances

1
2
3.

4.

Maharashtra - Tamasha
Andhra Pradesh - Dhimsa
Odisha - Chou

Guyjarat — Chadya Dandanatha

QAURY 9Y° 64GPRA ERIRGSY AIN1A Q@ 6T 096 @9

1.

2

-
5 5

4,

Options :
1.% 1
2.% 2
3.%3
4.9 4

ALY - eIl
2IRYEQ4! - &J°dll
8@l - 82

QEUC’ — Qe QI

Question Number : 8 Question Id : 3922668048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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‘Give me blood. and I shall give you freedom
are said by

L,
2.
3.

4.

Jawaharlal Nehru
Sardar Patel

Subhash Chandra Bose
Bhagat Singh

6RI60 Q@ Q. ¢] 9I1Q ARG 609" 92 FR2/6M

1.

2.

i
&

4.

Options :
1. %1
2. %2
3.¥3
4. % 4
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*. these words

Question Number : 9 Question Id : 3922668049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The purpose of ‘Pradhan Mantri - Jan-Dhan Yojana® is to

1.
2.

=
2

4

Provide housing facility to all families

Bring all the families of both urban and rural area into
the purview of banking

Provide gas connections to all the poor

Provide financial assistance to the farmers

‘IR - @@-Q 6dIeE'Q WeWwslY

i
2.

(8]

Options :

1. %1

2.¢ 2
3. %3
4.% 4

A998 JRQI0Q 2RI 4RI GRS

Q9 4d2aise 8 PIFIERQ A2 deQIeq QUIae JQdaq
2l

AF1Y FI0RE SNIY RERRAR 6IGIRG!

QUG 2fe AQNG! gL RS

Question Number : 10 Question Id : 3922668050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the mismatched pair

i; 12™ January — National Youth Day
24™ January — National Girl Child Day
8™ March — UN Day for Women'’s Rights &

1o

fad

International peace

4, 28™ February — National Physics Day
AM 64T 096 @9

. QIpaIel 12 - Ie1a 49 §ad

SIgeQ 24 — QP QIRQI GQd

AIF 8 — ARl 2RIA 9e° 2BRIIE 413 AR UN @ad
4. 69U 28 - FIGI 6RIOR WG G

1o

fsd

Options :
1.% 1
2.% 2
3.%3
4.9 4

Question Number : 11 Question Id : 3922668051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The language which is called as ‘The Italian of the East’ 1s

1 Hindi
2 Sanskrit
3. Tamuil
4, Telugu
AIRAR AT @ Y 6QIR € QNG FRILI
1. Q1
2 Y
3. oldm
4, ceomYg
Options :
1. % 1
2. %2
3. %3
4.4 4

Question Number : 12 Question Id : 3922668052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of the book ‘Unstable Earth’ 1s
1. J.A. Steers

2. Gillbirt

3 Pascal

4. Delis o B
2Q 689R eI(2Ea YA IR 6 62083
1. 694.84

2. ORQIQ

3. Ade

4. 6ewd
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Options :

1.1
2. %2
3.% 3
4. % 4

Question Number : 13 Question Id : 3922668053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The film *The Tashkent Files’ is based on the mysterious

death of

1. Lal Bahadur Shastri

2 Shyama Prasad Mukherjee
3. Homi J. Bhabha

4, Subhash Chandra Bose

'} Q1964 TR 99IG QLAY FY QU6 2IQG TR

i,

fad

4.

Options :

1.¥ 1
2. % 2
3. % 3
4. % 4

AR QLG Y1
SYIFN AR ST
62IC1 68, QIS

RIS 9F 611

Question Number : 14 Question Id : 3922668054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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This is used for artificial rains

1.
2
3.

4

Magnalia
Silver Iodide
Calcium Phosphate

Hydrogen Peroxide

421 964 Q¢ I LS 99

1.
8

(b

4

Options :
1. %1
2.¥2
3.% 3
4. % 4
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Question Number : 15 Question Id : 3922668055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The name of the Indonesian National Airlines is

i
2

)

4

Tiger Indonesia
Garuda Indonesia
Elephant Indonesia

Cheetah Indonesia

R6S6RTLQ YRR AR ARQA QUFl 62RE

L.

2.

2
e

4.

Options :
1. % 1
2.2
3.% 3
4. % 4
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Question Number : 16 Question Id : 3922668056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the mismatched pair
1. Dollar - Barbados
2. Rouble - Belarus

(D

Won - Japan

4. Dinar - Algeria
am 69IE0q 526 A

1. oRa-QIeeelq

2. 99R - 6eRIed

Tad

6Q - QIR

4. QI - 2REL

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 17 Question Id : 3922668057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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After March 2024, the eligibility age for senior citizen to vote
through postal ballot is

i 70 years
2. 75 years
3. 80 years
4 85 years

2024 QI J69 999 QIONAE AN 6AWR MERT K2R
6RIG 6QQ1 AIR Iy QAULINCIQ! 6AITNGI YA

3 70 @8
2 75 Qg
3. 80@d
4. 85ed

Options :

1. % 1

2. % )

3. % 3

4.9 4

Question Number : 18 Question Id : 3922668058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Dadasaheb Phalke Lifetime Achievement Award for 2022 is
awarded to

1. Mithun Chakravarthy

2. Aiswarya Roy

(b

Chiranjeevi

4, Hemamaline
QQ dIfLQ TINER NRT 1R EJI@@}G‘ET@ 2Iele — 2022. QI

JeoIe RS

1. fee 9geal
2. 2299 Qg
3. oo&id

4. cRAICING

Options :
1.1
2.% 2
3. % 3
4. % 4

Question Number : 19 Question Id : 3922668059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The Central Government has announced this pension scheme
for employees from April 1. 2025

2025 MgR JENIQ 699 A0RIQ RACIRIE IR 9@ 694} &6

6QIE RQ8S
1. National Pension Scheme (@l101€ @@l 6<I901)
2. Old Pension Scheme (JQéll @@l 6diaa)
3 New Pension Scheme (960 @@l 6dIQw!)
4, Unified Pension Scheme (M@1Q©G @@l 64IQR)
Options :
1. %1
2. %2
3. %3
4.9 4
Question Number : 20 Question Id : 3922668060 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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33" Summer Olympics 2024 was held in

1 Los Angeles (America)

2. London (Great Britain)

Paris (France)

(sd

4. Shanghai (China)
33091 QIgRINR ARdg 2024 AQAG 62IRAQI AR

1. @4 aleaad (2leaasl)
2 REe (699 §69Q)
3. QIRd (TI1Q)

4. ArQIR (SIRQI)

Options :

1. % 1

2. % 2

3.3

4. % 4

Section 2

Section Id : 392266252
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266252
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922668061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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“English language would contribute to the revival of India.
just as Greek and Latin contributed to the revival of England™.

said by
1. Elphinstone
2. Macaulay

&
i

4.

Sadler Comumission

Sargent Committee

‘AL JEAFIA AIR F1R 6 AITY AR AR 9@, QARG
JRQaIa din A°AIGT QIEI VIR 629" 6910 99l FL26R

L.
2
3.

4

Options :
1. %1
2.9 2
3.%3
4. % 4

RTRAUR
6L1RI6R
([ralag=alsie
diead QA6

Question Number : 22 Question Id : 3922668062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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‘The authorities audit report record’ belongs to this section in
the school registers

1. Correspondence Register

2, General Register

.. Academic Register

4, Supervision and inspection Register

M 6ATARER 'AQAV AT Q6T 6aRE' 9@ FRITR AR
1. J9R6Cd 69GaR
2. Q298] 69aRA
3. RI6LIR 6QEAR
4. QI YQ° JI% 694Q
Options :
1. % 1
2. %)

3.% 3
4.9 4

Question Number : 23 Question Id : 3922668063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Article of the Indian constitution deals with the
‘education development of women’

QUAGTG AAMQQ G 2IQI 'TERIE S IRNE' AR

L 15,16
2 28,29
3. 19
4, 21
Options :
1.¥ 1
2.% 2
3.%3

4.% 4
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Question Number : 24 Question Id : 3922668064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

NCLP school are managed by

L. NGOs

2 Government Teachers

3. Corporate Companies

4. Various Industries

NCLP QQUedgeq 9el6e dooIna! @od
1. NGOs

2 AR KD

3. @6d1609 Q1
4.  Quade

Options :

1.v¥ 1

2.% 2

3.% 3

4. % 4

Question Number : 25 Question Id : 3922668065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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According to NEP 2020, Anganwadi workers / teachers who
has lower education qualification than 10+2 will be given the
training for this time period

1. 6 months diploma course
2 8 months diploma course
G 1 year diploma course

4. 2 years diploma course

NEP 2020 2Qdlig, 10+2 26l @] d916le 6KINS! 2/Q!
AFRQIG 21/ITICIRG 9@ A9, i gIad QAL

1 6 Q1IAQ PEYIA A0S
2 8 IR GEYIET AIOYFST
1 QE2I Geglel QIougel
4. 2 Q82 @6l oGS

(e

Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 26 Question Id : 3922668066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The word “Ethos’ 1s derived from

1 Latin
2. French
3. English
4, Greek
‘Ethos’ @IF1@ dQ 98 QUIQ RY:
1. QIEQ Qusl
2, 6T
3. QAR
4. DN
Options :
1. %1
2.% 2
3.% 3
4.9 4

Question Number : 27 Question Id : 3922668067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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This 1s the best method to teach moral values. as per the
recommendations of the Secondary Education Commission
(1952-53) and “National Curriculum Framework 2000°

L.
2.
3

4.

Integrated approach
To teach value education as separate subject
Direct participation

Involving in various social activities

AR Sl @AY (1952-53) Q° ‘QIQ1L AIOIQE @1E1 2000°Q
gaIaQ AQMIG 650 FRIsaI Jal AIn 9L 6298 A6IRE]
ARG

1.
s
3.

4.

Options :

1.v'1
2.% 2
3.% 3
4.% 4

Qe 2GS

FmieQlRl SR FeIe QS AKER diTll 6QQl
g 2rag el

FOR AT AINER FEAIFE YRS

Question Number : 28 Question Id : 3922668068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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“Listening Carefully to the opinions of others™ is this type of

value

1. Democratic value
2. Social value

3. Permanent value

4. Spiritual value
"AMAIRE AGI19Q QA 9L Q" 6208 € JRIaa (JRea

1. CeIoIae daIeql
2. AFISR FRYe
3. digl gmieql
4. AL FRIEA
Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 29 Question Id : 3922668069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Under this section of the Right to Information Act 2005. every
citizen of India can request for information of his / her choice

1.
2.
3,

4.

Section 4 (1)
Section 6 (1)
Section 9 (1)
Section 2 (I)

Joql 2RI 2R - 20059 YE 2IQI AFLIA] QARG Y6
QIOER OF Qgl AQUIER o6 din 2FEI RQUIGER

1.
z

-
g

4

Options :
1. %1
2.¥2
3.% 3
4. % 4

Qg 4 (1)
QuIg 6 (1)
QI 9 (1)

QU 2 (T)

Question Number : 30 Question Id : 3922668070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Wrongly matched chapters and its components of NCF — 2005

15

Chapter 2 — Learning. knowledge

1
2 Chapter 3 — Perspective

Tad

4. Chapter 5 — Systemic Reforms

Chapter 4 — School and Classroom Environment

NCF — 20059 2i&ligh \9Q° Y919 QdIQIRgee 9m QQER 661@

6LING

o

2. kI3 - QEGRIE

(S

4. 2laliel 5 - UQLICIC DA

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 31 Question Id : 3922668071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2l 2 — Sl KNS

2lIIE 4 - QUIRE Q° 6541IGL AAEE

Section 3

392266253
3

Online
Mandatory
10

10

5

0

1
392266253
Yes
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The responses in Operant Conditioning are
1. Naturally emitted

7. elicited
3. unnatural
4, either naturally emitted or elicited
QA-g9e gaIraea_goeqal gee
1. JIAUID ALRR
2. geKsie
3. agIQew
4. IR QUL @9 galde
Options :
1.¥ 1
2. % 9
3.% 3
4. % 4

Question Number : 32 Question Id : 3922668072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This step of memory process can be measured by this formula

initial trails—relearning trails

x 100

initial trails

Q¢ de AgQIg] 96 d99Ieq € 6AIDI9g @nFl @RISR
JIoAa 698 —grsdts 6odl

JI9fe 694l =100
1. 3
2 g
3. 2
4. |
Options :
1. %1

2.9 2
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on Number : 33 Question Id : 3922668073 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Chronological age and mental age of a student are 12 years and
1Syears respectively. As per L.Q. level classification he belongs
to this category

4

Very superiors
Superiors
Gifted

Given data 1s insufficient

G641 SR1P1Ea S1910e Q@ad 9e° AINde ead Jaligesn 12 o
e 15 Q4 | gavia (LQ.) 2918 Qellaqd Agaial 6 9L 6g41Q

2SR
. 25699 Qe
2.  69a Q¥
24 goRlgia
4. QUAIRQI o2y ALY 6L
Options :
1.¥ 1
2.% 2
3.%3
4. % 4
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‘Self-smart’ people possess this type of intelligence

1. Visual spatial intelligence
2. Interpersonal mtelligence
3. Intra personal intelligence
4, Naturalistic intelligence

'Y AP’ ERIRFIFITR L gRIR 9F 2l
I QY gieeda

2. UIQNEQ 9F

3. 2e8Qiee 9F

4. 90 9f

Options :
1. %1

2.% 2
3.¢ 3
4. % 4

Question Number : 35 Question Id : 3922668075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The stage when the learners regardless of their best efforts.
temporarily seems to “stop” making visible progress

1. Plateau stage
2. Initial spurt
3 Fluctuations stage

4. Spurt after plateau stage
16 660 JAIA Q6M F1l, AT 696 2D AW 9

62MING 6QSIdQ 2199l

1. 2QWQE 2Qd

2. QIode 98

3. QIEQ 29l

4. AQWQR 96a 9@ 24

Options :
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1.v¥1
2. % 2
3.% 3
4. % 4

Question Number : 36 Question Id : 3922668076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy

SINner.

is believer of God. He thinks that God never forgives the
Therefore he never did any sin. Here the motivation

mvolved is

1.

-

—

tid

4

Extrinsic motivation
Intrinsic motivation
Achievement motivation

General motivation

@66l QPR VARG A A2 | 64 KRG 64 VIR 6R6R Q

QG
0I6Q

1.
-

g
ok

4.

Options :
1. %1
2.9 2
3.% 3
4. % 4

Al RQ2 Q12 | 60¢] 64 6R6R 6AISIA AIN FARLIER |
AYD AREIQS 6298

QDY ZREYRQE!

2138 QeI

QG 26

ARIQE 2REIRS]
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“Understanding total learning situation” happens in this learning

L.

)

fad

Insightful learning
Programmed learning
Operant conditioning

Classical conditioning

S1E] ﬂ@@ Ql‘?l@ QCKG‘I @ J96I6Q 691Nl

—

-2

(b

4.

Options :

1.¥ 1
2.% 2
3. % 3
4. % 4

2844 Ja4
ISR SIS
Gal-g4ae ga1ae
SI91g gAIAR
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student failed in SSC examination. But he dreamed that he

would be selected for IAS and became District Collector. This
defense mechanism is

1.
2.

fad

4

Rationalization
Fantasy
Displacement

Denial of truth

@66l dgllell SSC QQIRIER 6T 6TIR2sa | @9 64 99 6QY2len

6% 6 TAS IR F1I6Q191G 6910 FRIIR 6269 | 98 AIede
21198 6R996 698

1. 6490 @4
2. QQI9q
3. QIeQYe
4. 99YQ AYIRIQ RAQ
Options :
1. % 1
2.9 2
3.% 3
4. % 4
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Symptoms of poor mental health is

I/ Adequate ability to make adjustments

2. Socially adjustable

3. Lives in his own world of imagination and fantasy
4, Always lives in the world of reality

AIRLQ 2GR MYl 629

1. adug QIediee AIiey
3, AIFFR LR
3. 919 Q809 f006q 921 @4 @9l 9 6QHl
4. 9991 QI9Q 9REIER GEREA
Options :
1. % 1
2. %)
3.¥3
4. % 4
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These methods are NOT useful to assess the personality of an

individual

. Personality Inventory

b. Minnesota Clerical Aptitude Test

& Bell's Adjustment Inventory

d. Metropolitan Readiness Test

P64 BT QDRA ZNRY AR AR 9EG ﬂﬁ‘@i}l@ﬁ? 209 (N9 [IN]

Q6%

a. NEQ GRS

b. {i6R6dIg QAQIM AINTIL 66d

C.  69R YQRILETL AQERRC!

d.  676GICUINGEIR 6966R] 60)

1L a.b

2, b.d

3. c.b

4, a.d
Options :
1. %1
2.¥2
3.%3
4. % 4
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If x> — 1 is a factor of ax2 + bx—5 then
&F-+br—5€h@——1fm?ﬁﬂﬁﬂﬁﬂﬂﬁﬁ

1 a=5. b=l
2. =—5.b=0
3. a=5. b=0
4, =5. b=1

Options :

1. %1

2.% 2

3.¥3

4. % 4

Question Number : 42 Question Id : 3922668082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

(1.5x — 4y) (1.5 x+4y+3) — 4.5x+12y+4y (4y) =
. 225x2+ 9y
2

T
|
-2
h
-
[t
+
[R—
O
-
[

4. 2252

Options :
1. %1
2.% 2
3.% 3
4. 4
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; ; . 5
A rational number 1s such that when vou multiply it by — and
2

) ,
add — to the product you get — . The number 1s

12

(']

" 5 ﬁ 2
@661 IR AR6AA LWIF — T FIF AR, JITRG — AL
2 3

-7 = =
6IGl @Em, 6IFTR — dIRQ | 6069 64 4°GNIF

12
-1
1. —
2
1
2. —
2
. -1
3 5 —
3
1
T
Options :
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2.% 2
3.% 3
4. % 4
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2 3 ;
If —+——=2 and if_—i:—l then Z+2 =
-J; Y VA -.,"." ; 2 3
2 3
BN B ST . A
Jx ) Jx V3
1. 5
2 6
3 9
4. 13
Options :
1.¥1
2.% 2
3.%3
4.% 4
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If a. P.y are zeroes of ¥’ +3x* —x— 3 then o® + * +y% =
¥+ 337 —X— 3 Q FNIGSR o. . Y 6Q6R o + P +y =

1.
2. 8
3 2,
4. 11
Options :
1. % 1
2.% 2
3.% 3
4. 4
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Question Number : 47 Question Id : 3922668087 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What is the range of the values of the constant K. if the
equation x* + kx + 16 = 0 has no real roots

¥’ +kr + 16 =0 AA1QQ€IQ 621614 QIR €@ @ 26w, 9Q QI K

FAYQ I6IAQ

1 =5CK<5
2. 22K <2
3. ~8<K<8§
4. —-16 <K <16
Options :

L% 1

2.% 2

3.¢3

4.% 4

Question Number : 48 Question Id : 3922668088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If x = sum of first 40 even natural numbers
y = sum of first 40 odd natural numbers, then y— x =
x= gael 406 gg 9619 A°8iQ 671IS

St
Il

Jelel 406 2lgl G€IR AR 6EIIS 6D6R y—x =

1. —40
2. 40
3. =20
4. 20
Options :
1.v1
2. %2
3.%3

4. % 4


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

Question Number : 49 Question Id : 3922668089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The largest binomial co—efficient in the expansion of (1+x)™is
(1+x)!? QAIQEI6Q Q@ar] 9UL1 A3

i;
2;
3

4.

Options :

1.v1
2. % 2
3.% 3
4. % 4

924
816
T3
495

Question Number : 50 Question Id : 3922668090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The domain of function y(x) defined by equation 3* +3¥ =3 i3
37+ 3V = 3 QA19Qdl FI9l Fae Tee () O 96de

J  —

8]

4.

Options :

1. % 1
2.% 2
3. % 3
4. ¢ 4

[3, )

(0, e0)
(0. 1]
(o0, 1)

Question Number : 51 Question Id : 3922668091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1 0 0
If A=|2 3 4|anddet A=45thenx=
3 0 *
1 0 0
A= 3 4|9Q° det A= 45 696R x =
5 -6 «x
1. 27
2. 23
% 9
4. 7
Options :
1%
2.% 2
3.%3
4. 4

Question Number : 52 Question Id : 3922668092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following 1s NOT TRUE.
1. Mode 1s not effected by extreme values

2. Mean 1s mfluenced by the value of every
Observation in the data

Median is uneffected by extreme values
Range of first ‘n” whole numbers 1s ‘n’

9 6266 ARY G6L
9aA (NGRS IRl FIRER gRITE 99 Q1@

D)

.H

2. QAR Il g6RUR AdIEQTER MY FIRI AIIAIR
JRISS 6212

3. 9QF FRNgeR 90l AUl gRIGe 99 QI
4. €29 ‘0’ g4 W 902 ‘0’
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Question Number : 53 Question Id : 3922668093 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In first 10 overs of one day cricket match of 50 overs the run
rate was only 4.4 what should be the run rate in the remaining

overs to reach the target of 366 runs?

9@ 50 BRQ QTR R NIRA Jafl 10 B J6Q AR LI
6Ran 4.4 Q28 | 366 O] AW UL AR 2T GRAGA

EREC R LR 2ledie 7

L.
2

LS ]

4.

Options :
1.v 1
2.% 2
3.% 3
4. % 4

8.05
8.25
7.5

7.05
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The mean of a. b. ¢. d and e 1s 32. if the mean of a. d and e 1s
28 then the mean of b and ¢ 1s

a.b.c.d99° ¢ Q QAULIQ 32, a. d 99° ¢ Q LAY 28 6LER

b 9G° ¢ Q FIAULIQ
1. 38
4 36
3. 34
4. 32
Options :
1.v1
2.% 2
3.%3
4. % 4

Question Number : 55 Question Id : 3922668095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The point of mtersection of the less than type and of the more
than type cumulative frequency of a grouped data is (15.5. 7.5)
then median 1s

@ FReR G2NQ 2SR 9Q° AQEAILE AFE 6d19gR8gERa)
6207 Q4 (15.5, 7.5) 626 F1IC

i 7.5
2 23
3. 3
4, 155

Options :

1. %1

2.% 2

3.%3

4. 4
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Mode of the following frequency distribution is
Qg 6dlegas AR AQGQ FRIR
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CI [0.00-0.04

0.04-0.08

0.08-0.12

0.12-0.16

0.12-0.16

f

9

4

-

a
D

0.11
0.03
0.06
4. 0.09

L R R

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 57 Question Id : 3922668097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the variance of 0.1.2.3.........9 1s K. then the variance of
10.11.12.13...._...19is

Options :
1. % 1
2.% 2
3.% 3
4. 4

9 @ Q9 K 6a6m 10,11,12,13,.... 19 Q 949G
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Two dice which contain A.B.C.D.E and F on their faces are
thrown simultaneously then the probability of getting two
vowels on two dices.

Qa6 QY6dE AIRa %6 A.B.C.D.E 9a° F 926 QIdiag,
QIENER TFIREA QAT REETITER QAL AralsT Yeed ZIAQ!

RN
1
(M —
18
1
2 —
2
X 5
5 5 —
36
1
"
9
Options :
1. %1
2.% 2
3.%3
4. 4
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A bag contains 10 yellow. 15 blue, 20 red and 25 green balls.
A ball is picked out without looking into it. Probability of
getting a ball that 1s neither yellow nor blue.

@ 4l6Q 106 2aQ2, 156 1@, 206 IR 96° 25C d9F o
QEg | €8 WEeQ @ 69Y AYLTC WA 60T AR QLR
AR | P19 2T @¢)l Ale 691 @ QI AAING)

3
A —
14
1
2. —
f)
. 9
5 I
14
3
4. =
14
Options :
1. %1
2.% 2
3.¥3
4. % 4
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From a pack of 52 playing deck of cards. jacks. queens and
kings of red colour are removed. From the remaining cards.
Probability of getting black king card is

52 § Q6! 89l 99 919 ¢0IQ AR QFa EGlIRIF, Q&I Q° QG
doIgeq QL0 QAR | AEY UGIgERQ @Rl ANl ol

i<l AU
1
1. —
26
1
2 —
46
X 3
5 ——
26
1
? R
23
Options :
1. % 1
2.% 2
3.%3
4.9 4
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There are hundred cards which are numbered from 1 to 100.
Find the sum of probability of getting a square number and
probability of getting a cube number

1 @ 100 948 6mSHl 621R2A1 1006 @16 0@8 | Q9 A°HYl AR
ARG IQ° AR Y AIRR AAIUSIA 67116 Fd @R |

1 0.10
2. 0.12
3. 0.13
4. 0.14

Options :

1. % 1

2. % 2

3.%3

4.9 4
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A and B are independent events with P(A) = 0.2 and
P(B) = 0.5 Then P(A/B). P(B/A). P(An B) and P (AuUB)
respectively are

i, 0.2,0.1,0.5and 0.6
2. 0.1.0.2.0.5and 0.6
3. 0.1,0.2,0.6 and 0.5

4. 0.2.0.5.0.1 and 0.6
AQe°B ‘Q@@ 4ea 49él | P(A)=0.2. 99°P(B)=0.5

626@ P(A/B). P(B/A). P(An B) ¥9° P(AUB) €12IIg6¢!

1. 0.2.0.1.0.59%° 0.6
2 0.1.0.2. 0.59%° 0.6
3. 0.1.0.2,0.6 99" 0.5
4, 0.2.0.5.0.19%° 0.6

Options :

1. %1

2.% 2

3.%3

4. 4

Question Number : 63 Question Id : 3922668103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Y- axis divides the line segment joining the points (—6. 15) and
(3. 5) internally in the ratio

(-6. 15) .(3.5) @QY|@q Q°6dIg @QEQl 60HIHaq Y — Q) 238
QRSR RGQ! 2AQAIR

1 1:2
2. 2:1
3. 9:20
4. 32

Options :
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 64 Question Id : 3922668104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertices of a parallelogram PQRS are P (3. 5). Q (1. 10).
R (3.1) and S (-1. —4) and M is the point on side PQ. The area
ARMS is (sq. units)

PQRS di{120@699Q ﬂi@ﬁl@@ P(-3.5.Q(1.10).R(3.1)
NQ° S (1. -4) ¥NQ° PQ QIg QAAE M 9@ @@ 626m, ARMS @

6IRTR (R0 IRRER)

1 144
2 92
3. 46
4. 23

Options :

1. %1

2. % 2

3.% 3

4.9 4
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The area of an equilateral triangle whose vertices are (a. 0).
(—a. 0) and (0. a+/3 ) is 83 sq. units then the value of ‘a’ is

(a. 0), (=a.0)N&° (0. av/3) 819 QI AARIQ SRR CIGTR
343 Q6 9QQ 626@, a Q MY

¥ 2
2. b
3. 4
4. 42
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 66 Question Id : 3922668106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference of length of diagonals of Quadrilateral PQRS
whose vertices are P (—6.0). Q (4. 3). R (—6. 8) and S (-8. 3)
1s (In units)

P (—6. 0). Q (—4. 3), R (=6. 8) 9&° S (8. 3) €1d QI PQRS
0SA RLERa 6T4YR 6Ra(IRR6R)

1. 4
2. 45
3. 5
4. 55
Options :
1.¥1
2.% 2
3.% 3

4, % 4
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Question Number : 67 Question Id : 3922668107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the slope of a line joining the points A (a. 3). B f s 2%} 15

\

] : :
= then a1 is

A(a.3).B [- 7, 2%] 399G A°6AIG KPAS! CANIHaR

2661(QIQ) % 626R a’~1 @ G

i,

T

4.

Options :

1. % 1

2.2
3.%3
4, % 4

2 Vet
2

]]l
4
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Correct Marks : 0.5 Wrong Marks : 0
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The direction ratios of a line are (—6. 2. 3). The direction

cosines are
Q@ 60819 @0l 29AIegeR (=6, 2, 3) | 92IQ GFl 6RIARRICR

1.

(4D

Options :
1. % 1
2.9 2
3.%3
4. % 4

GET IT ON
Google Play

Question Number : 69 Question Id : 3922668109 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The angle between the straight lines represented by
2x” +5xy+ 2P0 —5%—dy+ 3 =018

2¢7 + 5004217 =5x =71 +3=0 9010 dOREQIgeR 71 6QIé]

L.

(b

4

Options :
1.¥1

2.% 2

cos™!

o

COSs

Sin

-

tan

(4
(i

f_’)}\,
3
4)
(5.
(1)

Py

\5/'
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3. % 3
4. % 4

Question Number : 70 Question Id : 3922668110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The equation of circle with centre (2.—3) and passes through
(-5.1)1s

(2.-3) 625 98 (-5.1) Qg 6@ 9l YA AR
1 X417 —4x+6y-44=0
2. X+ +4x—6y—44=0

X4y —4x+6y-52=0

)

4. P+ 9 +4x—6y-52=0

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 71 Question Id : 3922668111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The eccentricity of a rectangular hyperbola

9@ Mg ARUINICIINN RELLO!
1. 2
2. J2+1
3. w‘E
4, 1
Options :
1.v 1
2. % 2
3.%3

4.% 4
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Question Number : 72 Question Id : 3922668112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If A4=45"then the value of (CosecA—SinA) (SecA—CosA)
A=45" 626m (CosecA—SinA) (SecA-CosA) @ ¢JmY

E:
2.

X
o 18

R = © =

Options :
1. % 1
2.% 2
3.¢¥3
4. % 4

Question Number : 73 Question Id : 3922668113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AABC is a scalene triangle with base AC, if AC = 6cm,

AB = /3 cmand Z/BAC = 60°. then the area of triangle in cm?
is

QT AC 2191 IR Q¥ QIg §@s ABC 6@ AC =6 64.¢1., AB=
V3 624, 98° ZBAC = 60°. 626@ 3R9Q 69QTe 90 64.6.6Q

1. 4.5
2. 33
3. (4.513
4. 1543
Options :
1.¥ 1
2.% 2
3. % 3

4.% 4
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Question Number : 74 Question Id : 3922668114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which among the following increases continuously in the
range 0° <0 <90°?

0° <6 <90° IQAAER FEIQ FILIA MY GG Q& 9 |

L.
o5

(S ]

4

Options :

1. % 1
2.% 2
3.¥3
4. % 4

Sin6. Cot6
SecO. Coso
Sin®. tan6
SecB. CosecH

Question Number : 75 Question Id : 3922668115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If Cos (x+50%) =Sin (y—50°) then Sin (x+y) — Cos (x+y) +

Cos30°
Cos (x+50") =Sin (y—50°) 6@6® Sin (x+y) — Cos (x+y) +
Cos30™ Q F]jﬁlli
T
2

2 "’h@ + 2

' 2
3 v"g +1
. -

5
4. 3 +F:. rd
Options :

1. %1
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Question Number : 76 Question Id : 3922668116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of Rhombus ABCD is 18 +3 cm? and BD = 6¢cm then the

/DAB
ABCD Q4@ 699ae 1843 Q6 62.61. 96° BD =6 62.41.
626m ~DAB
1. 30°
2. 60°
3. 90°
4. 120°

Options :

1. % 1

2.¥ 2

3.% 3

4. % 4

Question Number : 77 Question Id : 3922668117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Inner part of a cupboard is in the Cuboidical shape with its

length, breadth and height in the ratio +/2:1:1 . then the angle
made by the longest stick which can be inserted into the

cupboard with its base diagonal is

Q@ AU AFE YA FYCIRA NOQ AILR 66, gD 9G°
QAFVIR AGAIG2 : 1:1 626, 638 FYEILER ARARA AN

RS Q1P LA YL @4l AL RAR 6RIER AQCE]

1. 45°
2. 60°
3 30°
4, 15°

Options :

1.% 1

2.% 2

3.3

4. % 4

Question Number : 78 Question Id : 3922668118 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Which of the following does not exist for some value of “x’
‘@ 6@lEd Y ARl FIQ 6RQC AR 6L

R |
1. Cosx = £
26
%4 Sinx = —
17
4 tanx =29
4. Secx=1.9
Options :
1. % 1
2.9 2
3.% 3

4, % 4
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Question Number : 79 Question Id : 3922668119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of Sec (2100°)
Sec (2100°) Q €Iy

1.

RN IS

d
|

4. -2

Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 80 Question Id : 3922668120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

InaAABC.Ifa=3.b=4 and SinA = % then /B

ABC Q@6 a=3,b=49Q° SinA = %6@6@ /B

L 90°
2. 60°
3 45°
4 30°

Options :

1.v1

2. % 2

3.% 3

4. % 4

Question Number : 81 Question Id : 3922668121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

If SecB+tand = % then value of Sin® and the quadrant in
which ‘0" lies

SecO+tand = % 6@6m Sind Q (ImY 9Q° “6° 2IQ9Q dIQ Q2IQEE]

; 5
1. Smé=—-—, 8e(,
13

2. Sin6= —%, 6e0,

. 4 Sﬂiﬂ=+i,ﬂeQ

13 :
: v
4. Smé=+—,0€Q,
13 2
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 82 Question Id : 3922668122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

For two non—zero. non collinear vectors a and b if
| a+b | = | a—b | then angle between a and b is
a. b Q@5 26aY, 26aW1e a8 9e° | a+b |=|a-b | 626

a. b 19 6QI€l

1. 60°
2. 90°
3 120°
4. 150°

Options :
1. % 1
2.2
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3. % 3
4. % 4

Question Number : 83 Question Id : 3922668123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the Parallelogram for which the vectors
a= 21—3j+3K and b =1+ 2] —5k are adjacent sides is
(in square units)

a=2i-3j+3K 9@° b =1+ 2j —5k 94@EgeR AFAREALR
AFRG QIL 626R, YA QTR (AT IRR6Q)

1 V782
2. v390
3. \/299
4 158

Options :

1. % 1

2.% 2

3.¥3

4. % 4

Question Number : 84 Question Id : 3922668124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If OA= i+3j+2k. AB= 3i-2j+k, then OB =
OA= i+3j+2k, AB=3i-2j+k 6e6m OB =

1. —2i+5]-k
2 PSR
3. 4i+j+3k
4.  —4ij-3k

Options :

1. %1

2.% 2

3.3
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4. % 4

Question Number : 85 Question Id : 3922668125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

s dx-
x2+9
1 —Tan E[‘—Wjﬂ::
9 9
2. —Tanx +c¢
3
5 1 sl
3. ?Tan 1(%}“:
o ks |
1 3
4. —Tan x+¢
9
Options :
1. %1
2. %)
3.3
4. % 4

Question Number : 86 Question Id : 3922668126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

o PR ,
The value of lim HMT. b#0.a#bis
x=0 Sin by
lim oy (b#0.a#b) Q¢4
g
-0 Sinbx
1. ab
I
b
" b
2. o
a
% log a

&
9
o

=
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 87 Question Id : 3922668127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If f(x) = e* + Sinx Cosx, then f*(x)
f{x) = e* + Sinx Cosx, 626m f'(x)
1 e* +Cos 2x

2. e* +Sin2x

e* +2Sinx
4. e +2Cos x

fad

Options :
1.v 1
2. % 2
3.%3
4. % 4

Question Number : 88 Question Id : 3922668128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

xSinxdx=

[ = o ey |y

fad

fy
2
4.
Options :

1. %1
2.2
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Question Number : 89 Question Id : 3922668129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the TRUE statement/s

(1) 2kg:500g=10km:2.5km
(1) 20 seconds : 3 hours = 1 meter : 900cm
(1) %1 : 10 paise= lcm : lmm
L only (i)
2. only (i) and (i)
3. only (i1) and (ii1)
4. only (i) and (iii)
A0Q Q@/QAYLR 996 @9 |
i) 2@ :5009.=10Q4. :2.5&.8.
(i) 206964 : 3 Q4 =1 F9Q : 900 64.41.
(i) T1:109<d=1644.:1@.4.
L. 6w (1)
2. 6@e® (1), (1)
3. 6@ (11). (111)
4, 6RQW (1). (111)
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 90 Question Id : 3922668130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The difference between compound interest (compounded
annually) and simple interests on a certain amount of money
for two years at 4% per annum 1s ¥10. Then the amount of
money is

@8 RE A QAR 4% QILIRER 2 AT (Qd] 26x AIY
ol IR0 K0Q1) PR Gl 9Q° ARIKE G FI6R 6@ 10
626M, R IR

E: X 6250
2. X 6300
3. X 6500
4. X 7500

Options :

1.v 1

2. % 2

3.%3

4. % 4

Question Number : 91 Question Id : 3922668131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expenses on oil. vegetables and rice of a family are in the ratio
12:13:15 respectively. The prices of these are increased by 20%.
30%. 50% respectively. The total expenses increased by

IR RQIR6Q 60R, GUAS! 96° IR QIR 6291 HP 2GS
QeIgea 12:13:15 | 649GRa Y KI2IFEF 20%, 30%,50% Q&
AR | 656 BRI 9g AUER & UIRG! YR IORG!

1. 32.5%
?48 33.5%
3. 34.5%
4. 35.5%

Options :

1. % 1

2. %)

3.3
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4. % 4

Question Number : 92 Question Id : 3922668132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a hostel of 180 boys the food material is sufficient for 37

days. After 12 days of hostel life, 30 boys left the hostel. The
number of days for which the remaining food material will last is

180 @41 2QI IR QPR SIFIFIAER 37 Gf AN 62 N ANGT
QEE | 12 @@ U6Q 30 9¢ QIR VYD [IE SINeR | 2eda
QPR IRl QA9 Q1 QY AIFIG! 6Q66 @a A8 AR 629

1. 30
2, 32
3. 34
4 36

Options :

1.¥1

2.% 2

3.%3

4. % 4

Question Number : 93 Question Id : 3922668133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the cost price of 12 apples is equal to selling price of 18
apples, then the loss percentage is

126 9gQ @9y, 186 IR 99 MY 92 AIQ 626w, IS

sl

1. 30%

2. 50%

T
3

+ 50%%
23
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 94 Question Id : 3922668134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An amount of T1170 1s divided among three persons A. B and
C such that 3 times A’s share, 2 times B’s share. 4 times C’s
share are equal. The shares of A. B and C respectively are

6716 1170 &1q A. B \G° C QIFI@ G0adl Q4@ F1:l6Q 98
QAUGIRI, 696 A RIGQ 3 g, B QI6Q 2 g, C R 4 Gl
dg 4eIQ 69 | 666@ A, B ¥e° C Q QUCIGER K2lIgee]

L. 3270.%180, %3360
2. 3390, %260, 3520
3, X520, X390, 3260
4 3360, 3540,%270

Options :

1. % 1

2.% 2

3.% 3

4.9 4

Question Number : 95 Question Id : 3922668135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Percentage of numbers from 1 to 70 (including 1 and 70).
which have 1 or 9 in the unit’s digit

1 99° 70 RIER &JQl (1 98° 70 Q F9I) NI 1ee
A6 1 @9 QUL AHMIFLRA ISR

| 8 20
5.8 25
3. 30
4, 35
Options :
1.¥1
2.% 2
3.%3
4. % 4

Question Number : 96 Question Id : 3922668136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The smallest 4 digit number which 1s divisible by 9. 18, 24
and 32 1s

9, 18, 24 I8° 32 FIQI TN GO 6201 4 Aw GHY YGOF

Gl
1. 1080
Z 1152
3. 1306
4. 1536

Options :

1. % 1

2.9¥2

3.% 3

4. % 4

Question Number : 97 Question Id : 3922668137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Which of the following 1s/are terminating decimal(s)

. 16 Tl . ) oy 9
2 125 (11) 110 () | &)
L (1) only

2 (1) and (11) only

3 (1) and (111) only

4, (1). (11) and (111)

QF) FIIQ A1 QIR A/ NI

. 16 ... 143
(1) e (11) 6 (111) T
| c@ew (1)
2. @R (1) 4Q”° (11)
3. e@ee (1) 4Q° (111)

4. (i), (ii) 9@° (iii)
Options :

1. % 1

2. % 2

3.%3

4.9 4

Question Number : 98 Question Id : 3922668138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Xy §o 1 & i ey - -
If log8[10g4(10g6}j = and lﬂgs(lﬂgz )— 1then HCF (x. )

R TR e, -
lﬁgg[10g4(logﬁjj—§ N3 1og3(1og2T}_ 1 626/ 6.41.9.

(x.y)=
L, 1
2. 3
3. 6
4 9

Options :

1.% 1

2.92

3.%3
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4. % 4

Question Number : 99 Question Id : 3922668139 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the pair of integers (a, b) such that @ + b=-3 and
a+b+8=0,thena= _
a+b=-3 9Q° a+b+8=0 6219 gL 62T (a, b)

eYem, a=
1. —4
2. 4
3. —12
4. 12

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 100 Question Id : 3922668140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following statement is TRUE?
Q7] FRIQ 609 AAG AR ?

1 1
1. , o ey |
4 4

i

4+(4+4)=(4+4)+(4+4)

5 W W
4. [4—5}74_(4.4) [4.4]

Options :
1. % 1
2.% 2
3.%3

12

fid
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Question Number : 101 Question Id : 3922668141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

313.824 +3/15.625 —3/17.576 =

i
2

LS ]

4

Options :

1.v1
2.% 2
3.%3
4.% 4

2.3
4
5
7

1o 1o

-2

Question Number : 102 Question Id : 3922668142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Let abe be any three digit number, then abe+bca+cab 1s not
always divisible by

abe 606@161d 96 2 QAE A 626N, abe+bea+cab
Q0] GIQl 9991 SRR 699 Q1@

1.
2.
3.

4

Options :

1% 1
2. %2
3. %3
4.9 4

a+b+c

L ¥ LS
-1 =1

Question Number : 103 Question Id : 3922668143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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IfA= {x x=n"+1n EN._nﬁél},B ={x : x 1s an integer and

x>~9 =0} then which of the following is TRUE
A={x:x=n"+1,neN,n<4}, B={r:x 9@ gg el I

x>-9 =0} 626@, G¢] RIQ 62QG A6y

L.
2,

(S

4,
Options :
1. % 1
2.% 2
3.% 3
4. 4

nfA—-B)=5

n(AnB)=1
n(AuB)=5
n(B-A)=2

Question Number : 104 Question Id : 3922668144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the WRONG statement

B L B e

All rhombuses are parallelograms

All squares are thombuses and rectangles
All rectangles are squares

All parallelograms are trapeziums

24y QA0 926 @a |

1.

oW

Options :
1. % 1
2. % 2
3.3
4. % 4

ae1g QFld AIFIB0R 691G 26T

de1g QI6AQ Q)4 9Q° 2IYOeg 26T
ACY PHG6AQ QEI6Q 26T

deIg AR 681G SITGAC] 266
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Question Number : 105 Question Id : 3922668145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In AABC. DE//BC. If AD=2.3cm. DB=6.9cm and EC=4.5¢cm
then AE 1s

AABC 6Q DE//BC. AD=2.3 6d.¢l, DB=6.9 64.¢1. 4Q°
EC=4.5 64.91. 626m AE Q ¢)a

1
2,

L]

4

Options :

1. % 1
2. % 2
3.3
4. % 4

3.0 cm
13.5 cm
1.5 cm
1.8 cm

Question Number : 106 Question Id : 3922668146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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‘AB’ 1s a chord of length 10cm which is drawn in the circle of
center ‘O’ and diameter 26cm. The perpendicular distance
from center to the chord 1s

L 10 cm
2 16 cm
3 13 cm
4 12 cm

‘O’ 609 9Q° 26 6.4 QUIA TN 9@ 9RER 10 624, 6L
QEY 9@ QY “AB’ Q28 | 624 0IQ QYI FA1UER &I A YOG

1. 10 64.4.
2 16 64.4.
3. 13 6<.4.
4. 12 64.6l.
Options :

1. % 1

2. % )

3. % 3

4.9 4

Question Number : 107 Question Id : 3922668147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A circle touches all four sides of quadrilateral KLMN.
If KL = 12cm, KN = 14cm. MN = 18cm then LM 1s

1. 8 cm

2 20 cm
3. 16 cm
4, 44 cm

9@ 9@ KLMN 999aQ Q1691 Q19q 24 998 | 9@ KL =12
6241, KN =14 6.4, MN = 18 64.41. 626@ LM @ @V

1. 8 6.9l
2, 20 64.4.
3. 16 64<.9.

4. 44 644
Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 108 Question Id : 3922668148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The supplementary angle of an angle ZA 1is three times to
angle ZA. The sum of complementary and supplementary
angles of ZA 1s

/A Q dOee 6Q16I6 LA @ 3 gél 26T | 666Q LA Q 29ee
8 IR 6RIEIGRAQ 67T

L. 45°
2. 180°
3 1357
4. 90°

Options :
1.% 1
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2.¥2
3.% 3
4, % 4

Question Number : 109 Question Id : 3922668149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of an exterior angle and one of the any interior
opposite angles of an equilateral triangle 1s

Q@ AL GReA QILYERIE NQ° 6K6IEId N9 238 UG

6@I€IQ 2IgdIe
1. 1:2
2. =1
3. 13
4, 3:1
Options :
1. % 1
2.92
3.% 3
4.% 4

Question Number : 110 Question Id : 3922668150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a triangle 1s 12 cm. If all the three sides have
lengths (in cm) in integers, then how many such triangles are
possible?

4R Gea J0QIFl 12 64.6. | 96 geoIR QIgR 654Y(69.6.69)
9@ gdardyl 62@, 606Q 69900 @65 dRIa YR AAR

6QIRUIRAQ ?
. 5
3 2
3. 3
4. 4

Options :
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1. %1
2. % 2
3.3
4. % 4

Question Number : 111 Question Id : 3922668151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

CART is a rectangle. Intersecting point of diagonals ‘CR’ and
‘AT’ is ‘0. If CO = x* +3x+7and OR = x” +4x+5then value
of x and length of any one of its diagonal respectively are

1. 4 and 35
2. land 11
- § 2 and 34
4, 3 and 25

CART 99 290699 | 995 @4 CR e AT Q 6890 99
‘0| CO=x"+3x+7 98° OR=x" +4x+5 626@ x Q QY
qQ° 6QI6QIEIT YR Q40 6GaY Kales!

1. 4 9e°35

2. 19e°1

3. 2 \Q°34

4. 3 Q° 25

Options :
1. % 1
2.% 2
3.¥3
4. % 4
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The ratio of the slant height and height of cone is 2:+/3 then
the angle between radius and slant height 1s

QR 95Q 99 Q90! IG° Q9TIR 2GS 2:4/3 6261, QYIS
Q° QQ Q90! FI6R Q! 614

1. 15°
2. 45°
3. 30°
4. 60°

Options :

1. %1

2.% 2

3.% 3

4. 4

Question Number : 113 Question Id : 3922668153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cone of height 7cm and base radius 3cm 1s carved from a
cuboidal block of wood with dimensions 10 cm x 6 cm x 2cm.
Then the percentage of wood wastage in the process 1s

10 69.8. x 6 69.€1. x2 64.8. Y S94 9@ ALLARIRR RO
TP 7 64.8. @P0l, 3 648, QIR GIR IR 95 69ILR
QAN | 6669 9@ JFU6R 94 6291 K10 AQCNE I9RLI6

g 45%
2. mly
2
3. 33%
1
4, 33—%
2
Options :
1.¥1
2.% 2
3.%3

4.% 4
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Question Number : 114 Question Id : 3922668154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD is a parallelogram whose adjacent sides are equal and
BD=13cm. area of ABCD is 65cm? then the length of AC in
centimeters.

ABCD dIFI20Q68gQ 9020 QI99ee 4a1 \9e° BD = 13
6d.41., 68T 65 @0 64.7. 626m AC Q 696l 64.51.69

5

10

6
9

L R o

e

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 115 Question Id : 3922668155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A right triangle with sides Scm. 12cm and 13cm 1s revolved
about the side 12cm. Then the ratio of curved surface area
and total surface area of the solid so obtained

5 64.6, 12 64.61. 9e° 13 64.51. QIT G 9@ AFERIE QRST
N2IQ 12 64.6. QIg CIRU6E Y8l @QQI 1Al QYR 6241 AR
Q4R 9 JI0RR 6ALTR 9Q° dFlg YIORR 6T 29I

E; EZ:5
2. 13712
3 13:18
4. 25712
Options :
1. % 1

2. % 2
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3.¢ 3
4. % 4

Question Number : 116 Question Id : 3922668156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following groups of English alphabet letters have
both horizontal and vertical lines of symmetry

¢l 602 R°AIST ZVQ AFLQ VAL AACISA 99° Awe] 64199

6Q%l QEE
. EXF
2. XHO
3. YT
4. ABE

Options :

1. % 1

2.%2

3.% 3

4. % 4

Question Number : 117 Question Id : 3922668157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a cube is 216¢cm’ then the length of its diagonal
in centimeters

IR U ARTR 216 QR 69.51. 626m, 9210 94Q 646

6<.41.6Q
1. Sx-"g
2 W3
3. 63
4. 62
Options :
1. % 1
2. %)

3.¥3
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4. % 4

Question Number : 118 Question Id : 3922668158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If diagonals of a Rhombus are 7cm and 3 cm respectively, then
the perimeter of quadrilateral which formed by joining
mid—points of the sides of thombus in cm

9@ Qgde @dgee delgen 7 6d.d. 9e°3 6ad. | aqda
QIgYLRq GQYRq 649 KAl FIQI G106 SRR ARl

64.41.6Q
1 4.5
2. 10
3. 5
4 9

Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 119 Question Id : 3922668159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio between the perimeter and the breadth of a rectangle
is 5:1. If the area of the rectangle is 216¢m?. then its length in
centimeters

@ 2Pge6Hga  dadial  ¥e°  gde  29AIe 51, ¥LI
6AQTR 216 Q6] 64.61. 6@6m, YLIQ 654 64.61.6Q

¥ 16
2, 18
3. 24
4, 26
Options :

1. % 1
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2.2
3.% 3
4, % 4
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Question Number : 120 Question Id : 3922668160 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The length of the minute hand of a clock 1s 14cm then what 1s
distance covered by the minute hand m 10 minutes in

centimeters?

e Q9IQ 50 QeIq 65dY 14 6.8, | 10 F596a 698 Q€I

A6 @QQI 9ael 64.51.6Q

3

1. 14 —
3
1
2. D
3
. 1
3 102 —
3
2
4 102
3
Options :
1.1
2.% 2
3.% 3
4. % 4
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Question Number : 121 Question Id : 3922668161 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Match the definitions of the Mathematicians

A. Francis Bacon 1.

B. Aristotle 1.

C. Kant 111.
v.

Science of quantity

Mathematics 1s the
indispensible instrument of
all physical researches

Indirect Measurement

Gateway and Key of all
sciences

CEICRAIER 6Q@RAQN L°RIGLF A2 |

A 199 6997 1L

B. 2IQ|GR ii.

C. g iii.
1v.

1. A-iv.B-iii,C-ii

2. A-iB-v.C-i

A-iv.B-1.C-1
4. A-um.B-1wv.C-i

(s

Options :
1. % 1
2. % 2
3.3
4. % 4

AN SBIQ

a1 6QOR 6Tl AR
Cl8Q YR YA ARIQ

eIl IR
ACIA ARG ISR 9Q°
QTR0
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The statement “No Subject loses more than mathematics by
any attempt to dissociate it from its history™ was said by

L,
2.
3.

4.

Lim

Chapman

Fried

J.W.L. Glaisher

‘6OlIcN QUYQ OI'A RGYDQ ARG F6R, 6Q1EIA YUY 71X FSIQ
A0 96 629 QIF"- 9Tl @226

L.

75

3.

4,

Options :
1. %1
2.% 2
3. % 3
4. 4

Qe
QAR
g

6.9Q4. 49, IoFLQ
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The person who along with Bertrand Russell. challenged that
“any one could show where logic ends. there mathematics
begins” was

1. Descartes
2 White head
3. Felix Klein

4, David Hilbert
6290 0F 64994 YS° 6290 G&e 2R I ? 6RIEL6M
6RHIRUIRE 6QIR Y9G QY& QIF1E QEdRE de Fd 9dQln @Q2lsn

1. 6091669
2. Q99 699
3. NG 6909

4.  600Q MY

Options :
1. %1
2.¥2
3.%3
4. % 4
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Identify the correct statements

L. Inductive reasoning 1s not a valid method when
concerned to proof
IT. Though deductive reasoning appears to be simple. there
is every possibility of going incorrect in many
situations
1. I 1s correct: II is incorrect
2. I 1s incorrect: IT 1s correct
3. Both I and II are correct
4. Both I and II are incorrect
0@ Q@ YR @9
I 296K 62960 QT FQOE ARG AGAId ARG
Q6¢
I QUAQIAR 629611 26 AaRRIEa 6Q6icem ¢1d A6aa
dQNEA PR 62U AAIFR! QL2
1. 190\ I190Q Q6%
2. 10K @6%: 120
3. Qe 19e° [1909
4. Qg 199°I190Q Q6%
Options :
1. %1
2.% 2
3.¥3
4.% 4
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Because of whose writings, the work of Pythagoras and his
disciples became known to the world

L. Epicaramos

2. Hippopotas

% Phyllodus

4. Architan

QQ ARl URCBARL 9Q° Qe AT o
a1 &Il

1. L1009

2. Q64641919

3. demied

4. @0
Options :

1% 1
2.% 2

3.¥3
4.% 4

Question Number : 126 Question Id : 3922668166 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In which year the Indian Government issued the postal stamp
for the first time in honor of Srinivasa Ramanujan

SIS

Qd QIFIgRes dARI6 WS AARQ gad aq AR

QARG ORI QAIRAQ! QF

B 1962
2, 1987
3. 1992
4, 1997
Options :
1.v 1

2. %2
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3. % 3
4. % 4

Question Number : 127 Question Id : 3922668167 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematician who was the first to suggest that letters can be
used for unknown quantities

1. Aryabhatta
2. Pythagoras
3 Gauss

4. Archimedes

294l QSgEe i 290 MRV FAULIRAIRS 69N A2l
RSN GIEIOR

1. 2Nes

2. dIRaedaq

3.  QI9

4. 2966084

Options :
1.v 1
2.% 2
3.% 3
4. % 4
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One of the mathematicians who infroduced the School of

Intuitionism

1. A N. White head
2 Bertrand Russell
3. Henri Poincare
4. David Hilbert

298 IRIQIQ/2IGRIARNIG IG0T KR! ASOR

L.
2
3.
4.

Options :
1. % 1
2.% 2
3.3
4. % 4

499, 2T 629
QIS A6AR
62901 6JIARERR
6603 2RQC
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Identify the correct statements

L. Understanding : The pupil established relationship
between two quantities given in a problem
I1. Application : The pupil corrected an error in a given
concept
1. I 1s correct: II 1s incorrect
2. I 1s incorrect: IT 1s correct
3. Both I and II are correct
4. Both I and II are incorrect
0@ Q@ 99 a9
L 2691 : AT ANAIER GALRIYR! §RE AUF €1:I6a
dgle 2199 ol
I Q@6 : gea dIediea A9l 6a18q Ja12ls aedie
=l
1. 1909:II 90Q g6%
2. 140R g69: 140
3. Q@ 19Q° II 90
4. Q@A I9° 140 969
Options :
1% 1
2.% 2
3.% 3
4. 4
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A scientist who wonders “how mathematics has got so many
uses in the world even though it is man made™ is

¥ Newman
2, Taylor
3, Einstein
4, Hogben

‘UEIC FINQQYS 626@ 1k 9RIQ Y60 JRIQ RU6dItel @uQ
2IJQI" 6QIR 2L RIS FRAG 6FRIGR

1.  QQeaQ
2.4 69'MQY
3. AReEq
4. Yeeq

Options :

1. % 1

2.% 2

3.3

4. % 4
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The statement “the student will be able to predict the shape of
truncated cone™ 1s the specification of this objective.

1. Skill
2 Knowledge
3. Understanding

4. Application

TG o IF0Q 9Re @em d00 629 09y QAR
RAQAQI" — QBT Y@ RERIA ALIQAE]

1. el
2. ofle)
3. 6l
4, et alle
Options :
1. % 1
2. % )
3.% 3
4. 4
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Which of the following is not the principle of curriculum

construction?
1. Principle of Difficulty
2. Principle of Flexibility

oy
= g

4.

Principle of Utilitarian value

Principle of Activity

QAR LI AIOYIFS AR 48 Q6%

1.

2.

3.

4.

Options :
1.1
2. %2
3.%3
4. % 4

Q090! 99
CQ19 4
Jediaqld Fmueqlal dg

AR 98
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If the student learns the concept ‘Integers’ in the beginning
and again after some gap in the class 7. the curriculum
organized i the following method

1.
2.

(s

4.

Topical Method
Concentric Method
Logical Method
Spiral Method

@66 dgIgl ‘gd QA" QIR ARG AT 654110 AR 9&°
@8QQ J6Q g4l dgem, 692 AIOIFFIQ A0 ARG 6LRE

.

2

3.

4.

Options :
1. % 1
2.% 2
3.% 3
4. 4

Qe 983
N~ AR [N
Qe 98

ade 98
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A good mathematics textbook should contain examples that:

i
2,
3.

4.

are extremely complex to challenge students
are in accordance with the situation and with clarity
are only focus on the gifted students

are unrelated to the text to increase difficulties.

U@ QE¢1 FSIe dIOIRER QLILASIYER

:

2,

3.

4.

Options :

1. % 1
2.9 2
3.%3
4. % 4

26 209 AR JAIg1g AN FNNE QEIG AP
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6QQR goal A°Uaq QU0 QERING 621089
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A “Preface” or ‘foreword’ at the beginning of a textbook
describes the following of the textbook.

A.  Specify the Scope

B. Specify the advantages

- Specify the objectives

D.  Specifies the values

dIOYRER JIeaeq QEIKHIReQl ‘dues” @gl ‘de @de" e
2EIgen 699 Q9Q

A dQ K€l

B. QdRIGQIg Q€I
C. Q6RQ 41
D. ¢RYEQIG &I
l. AB.D
2. BLCD
3. ABC
4. A C.D

Options :

1. %1

2. %2

3.¥3

4. % 4
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What 1s the role of “Mistakes and errors’ i Heuristic method
used in Mathematics teaching?

1. Mistakes and errors are not tolerated

53 Mistakes and errors are seen as failures

fad

Mistakes and errors are valuable learning opportunities

4. There is no room for mistakes and errors.

JEIG SFFER MRLIR FQRAR 26T ANGER 2] ‘@M IQ°
‘95"Q QR

L QW e QT gedia g6y

2. QW NG° Q6 YTRGI W6 gRd @Al

3. Om 99 gF (RIQIe dK8l gedIal 26T

4. QRN QL AR AR AL

Options :
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‘Education is Life’- stated by

L.
2.

sl

4.

Lord
Kil Partrick
John Dewey

Stevenson

‘gl @ 9199 — 9L @

it

2

3.

4,

Options :
1.% 1
2.% 2
3.¥3
4. % 4
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When using problem solving i mathematics. which one is the
key factor of success?

i;
2,

-
5 58

4

The speed at which a student solves the problem
The ability to apply learned concepts to new situations

The number of problems that a student can solve in a
set time

Student’s ability to solve problems without any errors.

GéIPEQ AL AARIG IR dUR @IEE QLI R 7S

@@
L

2

4,

Options :
1. % 1
2.9 2
3.%3
4. % 4

dael anQYIq AR RAQ 696
JY2AQI ARG QOF AR AR6LIT AR QG

QR 99g FI6q e K49 AORIS FQAIRS! ATyl
QY|

6@l6Id gF @ 2R A ARIF QAR QIS
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A suitable topic for teaching in project method

L
2:
3.

4.

Area of a circle
Pie chart
Discount

Surface area of a Sphere

gag 9866 JUIQI dI9 R99Ye g9

&

2

3.

4,
Options :
1. % 1
2. % )

3.¢3
4. % 4

Q89 6ASTR
aIQ QIe
Q@G
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7

This 1s not included in a unit plan.

1.

2

LS ]

4.

Content analysis
Teaching strategies
Teaching learning material

Evaluation

9eR LSRR ILIQ e RI@ |

1.

2.

3.

4.

Options :
1. % 1
2.92
3.%3
4. % 4

QU FeRTel
IR L
JAQNQ a8 A1

IRIGR

GET IT ON
Google Play

Question Number : 141 Question Id : 3922668181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

“A teaching outline of the important points of a lesson
arranged in the order in which they are to be presented. may
include objectives. points to be made, questions to ask.
references to materials, assessments etc.” This definition for a
lesson plan 1s given by

L. Herbart
2. Good. C.V.
3. Bloom. B.S.

4, Morison

‘6@ 9160 6LIGINGI @2l 698 FUI6R @G 9@ A0 ¢S
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L. 29

2. 9@ 4@
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4. 601099
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Which of the following is not related to Herbartian steps?

E: Preparation
2 Presentation
3. Response

4. Application
QCIQ 99E 2QITT 6QAIAIR AL A°YD Q6%

1. g4

2. Qe
3. goqal
4. QFedlsl
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A unit is a large block of related subject matter which can be

over viewed by a learner’’ - stated by
Herbart

L,
2.
3.

4.

Preston
Galton

Thurston

‘Jiell YFIFERART AU R §LQ UG WG WG @
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The influential experience in ‘Learning through observation’
category of Edgar Dale cone of experience.

1. Motion pictures
2 Demonstrations
3 Field Trips

4. Exhibits

QQIQ 6onG AgeE dFea ‘adieqad IRl dAd" QIR
QRIGY ARG AGREYLRQ RSP 29RGT

1. PeQ
2.  gede
3. 699 adige

4. 9989 Qg
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According to Edgar Dale’s cone of experience. which of the
following is correct?

1. More Passive experience — High retention

2 More active experience — High retention

g More Visual learning experience — High retention
4. More auditory learning experience — High retention

ROIQ 6enE AQQ6 dg gl BAQ 40K
L RIS AR AFR6 — Qa6 Qe

2. YR ARAIFR AGRE — ARE I
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Which of the following has to be considered while selecting
teaching learning material?

A.  Price only

B. Availabilities only

. Compatibility Objectives

D.  Popularity

DRI Y AICIG! AR FRIEIER AFIQ ILIQ VIR FAULS

A, 6999 gaY

B. 6997 Q0aQu
C. JU9o a6l
D. 6ReJdea
L A.B
2 B,
3. G
4, D, A
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The aid used for vocabulary. symbols in the lesson. how to
pronounce them or for revision is

1. Peg Board

2. Bulletin Board
3. Geo Board

4. Black Board

6licNa IOYIPI6R 2Rl IRVdIQ, AEFPYLRR ATINE ARG
@7l LU AR QUG QLR
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Which of the following are the enrichment activities for gifted

students?
1, Providing historical developments of various topics
ii. Appreciation the good work done by them.

iii.  Limiting the divergent thinking perspective.

QIR 9l ol 9da delfia i @RI ee Idige
L QR e Qe 16eIde QR 6QIGING!
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Identify the correct statements

I Games and laboratory activities are suggested as
supplementary material for slow learners
IT. Test items from mathematical Olvmpiads and national
talent tests should be provided as supplementary
material for slow learners.
1. Both I and II are correct
2 1 1s correct; I 1s incorrect
S Both I and II are incorrect
4, I 1s mcorrect; II 1s correct
d0Q 9@ 99a a9
I 12l %ﬂl&]@: 2008 IFIg! N6 F1L! 9° AAIIGNR
AR I JLRE RIS
I Ode 2, Q191g goul 9aIdigeeq daisl
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QI
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2. 190@: 11409 96%
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To teach slow learners. the teacher must possess this trait

1
2;

3
4.

Efficient

Experienced

Subject Expert

Resourceful. Efficient. Subject Expert
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Which of the following 1is a strategy to improve accuracy

1.
2.
3.

4

Practicing problems with a time limit
Skipping difficult problems and returning to them later
Encouraging verification of results.

Focusing on speed rather than method

QOQ Q0L 98 QAQI A AAEIGH QYL

L.

2

3.
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Options :
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Oral work 1s considered as important in teaching mathematics.

Why?
1. Useful in memorizing Principles
2 Encourages active Participation of students and
immediate feed back
3. An easy method for teachers to use.
4. Useful for improving hand writing skills
QEie JAQRER “6AlgR " N WS F6RTE 62PN,
641699
L. Jegeq F1699RIRRI6Q QUEIS 621RelI
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Main aim of using ‘Drill work™ in teaching mathematics

1.

fad

Develops creativity

Useful for students to work together in implementation
of Complex projects.

Replacing the need for conceptual understanding

To strengthen the understanding and skill of the
students on fundamental mathematical skills.
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Options :
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A Dbook having ‘Kantikaabharanam® Problems which were
examples of mathematics order

I Leelavathi Ganitam

2. Aryabhatteeyam

% Ganita Saara Sangraham
4, Pancha — Siddantika
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The arrangement of triangular numbers belongs to this form of
mathematics aesthetic structure

L. Pattern
2 Symmetry
3 Sequence
4. Order
GRST SR ARIRRE GISIER 6dledy GOR QAR € Sug A2
i@
k: @@l
2. 6dl9Q
3. AR
4. @¢l

Options :
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Who states the need to Start a Mathematics club in the School
1. NPE - 1986
2. PoA - 1992

Kothari Commission

[N

4. Mudaliar Commission
AUIRAYSRER TG QRY LR FAQ AIQMNRTIF KSR KRG
1.  NPE-1986

2.  PoA-1992
3.  6QI0IQ @daQ

4. RINGQ *FEQ
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Match the following

A, Validity I, Easy to administer

B. Reliability ii. Measures what it is
intended measure

£ Objectivity iii.  Consistency of results

D. Practicality 1v.  Free from bias and
Provide impartial results

Q7 QAgeq 6419

A 6deQol i AEF6Q JOQINl @QIQR

B. Gga0l i,  CIOQ WIS § @ A9
@l

C. G999l iii. TRITeq 90Q
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A-1.B-1,C-iii,D-1v
4. A-1.B-11,C-ii,D-1v

e
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A teacher is interested in assessing both the factual knowledge
and critical thinking skills of his student. Which of the
following would best serve this purpose?

1.
2,

fad

4

Fill 1n the blank Questions
Essay Questions
True / False Questions

Short answer Questions

@64 Jge Qe daIP1a QIEe RIS G2l KT 9809 AR QS
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3.
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Options :
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Which
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is the best use of diagnostic evaluation?
Before going to teach a new lesson

When defects are identified during teaching learning
process

After completion of the teaching
Teaching is going on
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In the process of preparing an evaluation tool. which 1s the

first step
1. Predetermine the Scoring Procedure
7] Identify the objectives of the evaluation

)

Selecting different forms of questions

Standardization of the tool with experts

AT RIS 66 galel 6T

de.

1L o9 dauig 9etda @asl

)

2. FRYIFER QNG 026 @AQl
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